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INTERMEDIATE EXAMINATION – 2023 (ANNUAL) 
(Model Set) 

CHEMISTRY (ELECTIVE) 
jlk;u 'kkL= ¼,sfPNd½ 

I.Sc. (TH) 

Total no. of Questions : 70+20+6 = 96  Total no. of Printed Pages: 
 

Instructions for the Candidates : 
 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk½ vo’; 

fy[ksaA 

Candidates must enter his/her Question Booklet Serial No. (10 

digits) in the OMR Answer Sheet. 

 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

 

3- nkfguh vksj gkf’k, ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

 

4- iz’uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidates to 

read the questions carefully. 

Time : 3 Hours 15 minutes Full Marks - 70 

fo"k; dksM &118  
Sub. Code - 118 
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5- ;g iz’u iqfLrdk nks [k.Mksa esa gS & ,oa A 

This question booklet is divided into two sections – Section-A and 

Section-B. 

6- [k.M&v esa 70 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA 35 iz’uksa ls vf/kd dk mÙkj nsus ij izFke 35 dk gh ewY;kadu 

gksxkA izR;sd ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy, miyC/k 

djk, x;s OMR mÙkj&i=d esa fn, x, lgh fodYi dks uhys@dkys ckWy isu 

ls izxk<+ djsaA fdlh Hkh izdkj ds âkbVuj @ rjy inkFkZ @ CysM @ uk[kwu 

vkfn dk OMR mÙkj&i=d esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke 

vekU; gksxkA 

In Section-A, there are 70 objective type questions, out of which 

any 35 questions are to be answered. If more than 35 questions 

are answered, then only first 35 will be evaluated. Each question 

carries 1 mark. For answering these darken the circle with blue / 

black ball pen against the correct option on OMR Answer Sheet 

provided to you. Do not use Whitener / liquid / blade / nail etc. on 

OMR Answer sheet, otherwise the result will be treated invalid. 

 

7- [k.M&c esa 20 y?kq mÙkjh; iz’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gS] ftuesa 

ls fdUgha 10 iz’uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr bl [k.M esa 6 

nh?kZ mÙkjh; iz’u fn;s x;s gSa] izR;sd ds fy, 5 vad fu/kkZfjr gS] ftuesa ls 

fdUgha 3 iz’uksa dk mÙkj nsuk vfuok;Z gSA 

In Section-B, there are 20 short answer type questions each 

carrying 2 marks, out of which any 10 questions are to be 

answered. Apart from these, there are 6 long answer type 



3 
 

questions, each carrying 5 marks, out of which any 3 questions are 

to be answered. 

 

8- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
[k.M & v @ Section - A 

oLrqfu"B iz’u @ Objective Type Questions 
 
iz’u la[;k 1 ls 70 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls ,d 

lgh gSA vius }kjk pqus x, lgh fodYi dks OMR 'khV ij fpfUgr djsaA fdUgha 35 iz’uksa 

dk mÙkj nsaA          35x1=35 

Question nos. 1 to 70 have four options, out of which only one is correct. 

You have to mark your selected option on the OMR sheet. Answer any 35 

questions.          35x1=35 

 
1- fuEufyf[kr esa dkSu joknkj Bksl inkFkZ dk mnkgj.k gS \ 

(A) jcj     (B) dk¡p 

(C) IykfLVd     (D) cQZ 

Which of the following is an example of crystalline solid ? 

(A) Rubber     (B) Glass 

(C) Plastic     (D) Ice 

2- Qyd&dsafnzr ?kukdkj bdkbZ lsy esa ijek.kqvksa dh la[;k gksrh gS & 

 (A) 1      (B) 2 

 (C) 4      (D) 8 
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 The number of atoms in a Face-centred cubic unit cell is – 

 (A) 1      (B) 2 

 (C) 4      (D) 8 

3- NaCl fØLVy dh lajpuk gksrh gS & 

 (A) fiaM&dsafnzr    (B) Qyd&dsafnzr 

 (C) v"VQyd    (D) oxhZ; ry 

 The structure of NaCl crystal is – 

 (A) Body centred    (B) Face- centred 

 (C) Octahedral    (D) Square planar 

4- ljy ?kuh; tkyd esa ladqyu {kerk gksrh gS & 

 (A) 52%     (B) 68% 

 (C) 72%     (D) 74% 

 The packing fraction in a simple cubic crystal is - 

 (A) 52%     (B) 68% 

 (C) 72%     (D) 74% 

5- fuEufyf[kr esa fdl izdkj ds ?kksy esa ijklj.k dh fØ;k ugha gksxh \ 

 (A) vkblksVksfud foy;u   (B) gkbiksVksfud foy;u 

 (C) gkbijVksfud foy;u   (D) buesa ls lHkh 

 In which of the following type of solutions, the process of Osmosis 

would not take place ? 



5 
 

 (A) Isotonic solution   (B) Hypotonic solution 

 (C) Hypertonic solution   (D) All of these 

6- ^^fdlh ruq foy;u ds ck"i&nkc dk vkisf{kd voueu foy;u esa mifLFkr 

vok"i’khy foys; ds eksy&izHkkt ds cjkcj gksrk gS**] bl dFku dks dgrs gSa & 

 (A) gsujh dk fu;e    (B) M~;wykSax&isfVV dk fu;e 

 (C) jkoy dk fu;e    (D) yk 'kkrsfy, dk fl)kUr 

 “The relative lowering of vapour pressure of a solution containing a 

non-volatile solute is directly proportional to the mole fraction of 

solute.” This statement is known as – 

 (A) Henry’s law    (B) Dulong and Patit’s law 

 (C) Raoult’s law    (D) Le Chatelier’s principle 

7- ,d foys; ftldk foy;u esa la;kstu ;k fo;kstu ugha gksrk gS] mlds okUV gkWQ 

xq.kd dk eku gksrk gS & 

 (A) 1-0     (B) 1 ls de 

 (C) 1 ls vf/kd    (D) 'kwU; 

 The Van’t Hoff factor for a solute which does not dissociate or 

associate in solution is – 

 (A) 1.0     (B) Less than 1 

 (C) more than 1    (D) zero 
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8- nzfor NaCl ds oS|qr vi?kVu ls dSFkksM ij fuEufyf[kr esa ls dkSu eqDr gksrk gS \ 

 (A) Dyksjhu     (B) lksfM;e 

 (C) lksfM;e veyxe   (D) gkbMªkstu 

 Which one of the following is deposited at cathode on electrolysis of 

molten NaCl ? 

 (A) Chlorine    (B) Sodium 

 (C) Sodium amalgam   (D) Hydrogen 

9- QSjkMs ds fo|qr foPNsnu ds izFke fu;e dks fu:fir djus ds fy, fuEufyf[kr esa 

dkSu lehdj.k lgh gS \ 

 (A) mz = ct     (B) m = czt 

 (C) mc = z.t    (D) c = mz.t 

 Which of the following is the correct equation to represent Faraday’s 

1st law of electrolysis ? 

 (A) mz = ct     (B) m = czt 

 (C) mc = z.t    (D) c = mz.t 

10- fuEufyf[kr esa dkSu lh vfHkfØ;k ,uksM ij laHko ugha gS \ 

 (A) Cr2O7
2- + 14H+

 + 6e  2Cr3+
 + 7H2O 

 (B) F2 + 2e  2F - 

 (C) ½O2 + 2H+ + 2e  H2O 

 (D) buesa ls dksbZ ugha  
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 Which of the following reactions is not possible at anode ? 

 (A) Cr2O7
2- + 14H+

 + 6e  2Cr3+
 + 7H2O 

 (B) F2 + 2e  2F - 

 (C) ½O2 + 2H+ + 2e  H2O 

 (D) None of these 

11- fuEufyf[kr esa fdl oS|qr vi?kV~; dsd foy;u dk fof’k"V pkydRo lcls de 

gS\ 

 (A) 2N     (B) 0.002N 

 (C) 0.02N     (D) 0.2N 

 Which of the following electrolytic solutions has the least specific 

conductance ? 

 (A) 2N     (B) 0.002N 

 (C) 0.02N     (D) 0.2N 

12- vfHkfØ;k 2A  B ds fy, osx dk fu:i.k fuEufyf[kr esa fdlds }kjk gksxk \ 

 (A) 
ଵ

ଶ
 
ௗ[஺]

ௗ௧
     (B) - 

ௗ[஻]

ௗ௧
  

(C) - 
ଵ

ଶ
 
ௗ[஺]

ௗ௧
     (D) 

ଵ

ଶ
 
ௗ[஻]

ௗ௧
 

 For reaction, 2A  B, the rate of reaction would be represented by 

which of the following ? 

 (A) 
ଵ

ଶ
 
ௗ[஺]

ௗ௧
     (B) - 

ௗ[஻]

ௗ௧
  

(C) - 
ଵ

ଶ
 
ௗ[஺]

ௗ௧
     (D) 

ଵ

ଶ
 
ௗ[஻]

ௗ௧
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13- fdlh vfHkfØ;k ds osx fLFkjkad fuEufyf[kr esa fdl ij fuHkZj djrk gS \ 

 (A) rki     (B) ek=k 

 (C) Hkkj     (D) le; 

 The rate constant of a reaction depends upon which of the following ? 

 (A) Temperature    (B) Mass 

 (C) Weight     (D) Time 

14- fuEufyf[kr esa dkSu izFke dksfV dh vfHkfØ;k ugha gS \ 

 (A) CH3COOCH3 + H2O 
ுశ

ሱሮ CH3COOH + CH3OH  

 (B) CH3COOC2H5 + NaOH  CH3COONa + C2H5OH 

 (C) 2H2O2  2H2O + O2 

 (D) 2N2O5  4NO2 + O2 

 Which of the following is not a first order reaction ? 

 (A) CH3COOCH3 + H2O 
ுశ

ሱሮ CH3COOH + CH3OH 

 (B) CH3COOC2H5 + NaOH  CH3COONa + C2H5OH 

 (C) 2H2O2  2H2O + O2 

 (D) 2N2O5  4NO2 + O2 

15- ty esa H2(g) + Cl2(g) 
௦௨௡௟௜௚௛௧
ሱ⎯⎯⎯⎯⎯ሮ 2HCl(g) vfHkfØ;k dh dksfV gS & 

 (A) 3      (B) 2 

 (C) 1      (D) 0 

lw;Zizdk’k 
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 The order of reaction H2(g) + Cl2(g) 
௦௨௡௟௜௚௛௧
ሱ⎯⎯⎯⎯⎯ሮ 2HCl(g) in water is – 

 (A) 3      (B) 2 

 (C) 1      (D) 0 

16- vf/k’kks"k.k dh izfØ;k gksrh gS & 

 (A) m"ek’kks"kh     (B) ì"Bh; ?kVuk 

 (C) vkWDlhdj.k    (D) vodj.k 

 The process of adsorption is – 

 (A) Endothermic    (B) Surface phenomenon 

 (C) Oxidation     (D) Reduction 

17- nw/k gS & 

 (A) olk esa ifj{ksfir olk   (B) olk esa ifj{ksfir ty 

 (C) ty esa ifj{ksfir olk   (D) ty esa dSlhu dk fuayacu 

 Milk is – 

 (A) fat dispersed in fat   (B) Water dispersed in fat 

 (C) fat dispersed in water  (D) Suspension of casein in water 

18- fuEufyf[kr esa dkSu oS|qr&vi?kV~; Qsfjd gkbMªksDlkbM lksay ds Ldanu esa lcls 

de izHkkoh gS \ 

 (A) K3[Fe(CN)6]    (B) K2CrO4 

 (C) KBr     (D) K2SO4 
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 Which of the following electrolytes is least effective in causing 

coagulation of ferric hydroxide sol ? 

 (A) K3[Fe(CN)6]    (B) K2CrO4 

 (C) KBr     (D) K2SO4 

19- fdlh jklk;fud vfHkfØ;k esa mRizsjd & 

 (A) izfrQy dh ek=k dks cny nsrk gS  

(B) lfØ;.k ÅtkZ dks ?kVk nsrk gS 

 (C) vfxze vfHkfØ;k ds ∆𝐻 dks ?kVkrk gSA 

 (D) vfxze vfHkfØ;k ds ∆𝐻 dks c<+krk gSA 

 In a chemical reaction, a catalyst – 

 (A) alters the amount of products 

 (B) lowers the activation energy 

 (C) decreases ∆𝐻 of forward reaction 

 (D) increases ∆𝐻 of forward reaction 

20- fuEufyf[kr esa fdl /kkrq dks lk;ukbM fof/k }kjk izkIr fd;k tkrk gS \ 

 (A) Øksfe;e     (B) dkWij 

 (C) flYoj     (D) ,syqfefu;e 

Which of the following metals is obtained by cyanide process ? 

(A) Chromium    (B) Copper  

(C) Silver     (D) Aluminium 
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21- fuEufyf[kr esa fdlds }kjk vfHk/keu&HkV~Vh esa ykSg vkWDlkbM dk vodj.k gksrk 

gS\ 

 (A) pwukiRFkj     (B) flfydk 

 (C) dkcZu eksuksDlkbM   (D) dkcZu 

 By which of the following iron oxide is reduced in blast furnance ? 

 (A) Limestone    (B) Silica 

 (C) Carbon monoxide   (D) Carbon 

22- oS|qr vi?kVu ij vk/kkfjr fdlh v’kq) /kkrq ds 'kks/ku dh izfØ;k dgykrh gS & 

 (A) oS|qr’kks/ku    (B) oS|qr vodj.k 

 (C) Lo&vodj.k    (D) nzo.k 

 The process of refining of an impure metal based on electrolysis is 

called – 

 (A) Electro refining   (B) Electro reduction 

 (C) Auto-reduction   (D) Fussion 

23- fuEufyf[kr esa fdlls rk¡ck /kkrq dk fu"d"kZ.k gksrk gS \ 

 (A) Cu2O     (B) Cu2S 

 (C) CuFeS2     (D) CuCO3.Cu(OH)2 

 From which of the following copper metal is extracted ? 

 (A) Cu2O     (B) Cu2S 

 (C) CuFeS2     (D) CuCO3.Cu(OH)2 
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24- fuEufyf[kr esa dkSu gkbMªkstu ca/k ugha cukrk gS \ 

 (A) NH3     (B) H2O 

 (C) HCl     (D) HF 

 Which of the following does not form hydrogen bond ? 

 (A) NH3     (B) H2O 

 (C) HCl     (D) HF 

25- mRd"̀V xSlksa ds ckáÙke 'ksy dk bysDVkWfud foU;kl gksrk gS & 

 (A) ns2np5     (B) ns2np6 

 (C) ns2np4     (D) ns2np3 

 The Outer electronic configuration of noble gases is – 

 (A) ns2np5     (B) ns2np6 

 (C) ns2np4     (D) ns2np3 

26- fuEufyf[kr esa dkSu lcls izcy vkWDlhdkjd gS \ 

 (A) F2     (B) Cl2 

 (C) Br2     (D) I2 

 Which of the following is the strongest oxidizing agent ? 

 (A) F2     (B) Cl2 

 (C) Br2     (D) I2 

27- s8 esa lYQj dh vkWDlhdj.k la[;k gS & 

 (A) +2     (B) -2 

 (C) +6     (D) 0 
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 The oxidation number of sulphur in s8 is – 

 (A) +2     (B) -2 

 (C) +6     (D) 0 

28- fuEufyf[kr ;qXeksa esa laØe.k rRo gS & 

 (A) Na vkSj Ca    (B) Mg vkSj Al 

 (C) S vkSj P    (D) Cu vkSj Fe 

 Transition elements in the following couple is – 

 (A) Na and Ca    (B) Mg and Al 

 (C) S and P    (D) Cu and Fe 

29- fuEufyf[kr esa dkSu vk;u izfrpqEcdh; gS \ 

 (A) Cr3+     (B) V2+ 

 (C) Sc3+     (D) Ti3+ 

 Which of the following ions is diamagnetic ? 

 (A) Cr3+     (B) V2+ 

 (C) Sc3+     (D) Ti3+ 

30- HkSusfM;e ¼z=23½ dk bysDVªkWfud foU;kl gS & 

 (A) 1s22s22p63s23p64s03d5 (B) 1s22s22p63s23p64s23d3 

 (C) 1s22s22p63s23p64s13d4 (D) buesa ls dksbZ ugha  

 The electronic configuration of V(z=23) is – 

 (A) 1s22s22p63s23p64s03d5 (B) 1s22s22p63s23p64s23d3 

 (C) 1s22s22p63s23p64s13d4 (D) None of these 
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31- fuEufyf[kr esa dkSu ySaFksukbM rRo gS \ 

 (A) Cd    (B) In 

 (C) Gd    (D) buesa ls lHkh 

 Which of the following is a Lanthanide element ? 

 (A) Cd    (B) In 

 (C) Gd    (D) All of these 

32- KMnO4 esa Mn dh vkWDlhdj.k voLFkk gS & 

 (A) +2    (B) +4 

 (C) +7    (D) +6 

 The oxidation state of Mn in KMnO4 is – 

 (A) +2    (B) +4 

 (C) +7    (D) +6 

33- Ni(CO)4 esa izladj.k gksrk gS & 

 (A) sp    (B) sp2 

 (C) sp3    (D) dsp2 

 The hybridization in Ni(CO)4 is – 

 (A) sp    (B) sp2 

 (C) sp3    (D) dsp2 

34- K3[Cr(C2O4)3] esa Cr dh leUo;u la[;k gS & 

 (A) 3      (B) 4 

 (C) 8      (D) 6 
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 The Coordination number of Cr in K3[Cr(C2O4)3] is 

 (A) 3      (B) 4 

 (C) 8      (D) 6 

35- [Co(NH3)5Br]SO4 vkSj [Co(NH3)5SO4]Br vkil esa fdl izdkj lacaf/kr gS \ 

 (A) vk;uu leko;o    (B) gkbMªsV leko;o 

 (C) leUo; leko;o   (D) fyadst leko;o 

 [Co(NH3)5Br]SO4 and [Co(NH3)5SO4]Br are related to each other as – 

 (A) Ionisation isomers   (B) Hydrate isomers 

 (C) Coordination isomers  (D) Linkage isomers 

36- DyksjksQkeZ gS ,d & 

 (A) izkbejh gSykbM    (B) Vf’kZ;jh gSykbM 

 (C) VªkbgSykstu O;qRiUu   (D) VsVªkgSykstu O;qRiUu 

 Chloroform is a – 

 (A) Primary halide   (B) Tertiary halide 

 (C) Tri halogen derivative  (D) Tetra halogen derivative 

37- ,fFky czksekbM dh vfHkfØ;k lksfM;e /kkrq ls 'kq"d bZFkj esa djkus ij curk gS & 

 (A) ,Fksu     (B) C;wVsu 

 (C) izksisu     (D) ,fFkyhu 
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 Ethyl bromide on reaction with sodium metal in dry ether gives – 

 (A) Ethane     (B) Butane 

 (C) Propane    (D) Ethylene 

38- fuEufyf[kr esa dkSu ,sfyy gSykbM gS \ 

 (A) CH2 = CH – Cl   (B) HC ≡ C – CH2 Cl 

 (C) CH2 = CH – CHCl CH3  (D) CH2 = CH2 – CH2CH2Cl 

 Which of the following is Allyl halide ? 

 (A) CH2 = CH – Cl   (B) HC ≡ C – CH2 Cl 

 (C) CH2 = CH – CHCl CH3  (D) CH2 = CH2 – CH2CH2Cl 

39- vfHkfØ;k & 

C2H5OH + HX 
௓௡௫మ
ሱ⎯⎯ሮ C2H5X + H2O ds fy, gSykstu vEy dh vfHkfØ;k’khyrk 

dk ?kVrk gqvk Øe gS & 

(A) HI>HCl>HBr>HI   (B) HI>HBr>HCl 

(C) HCl>HBr>HI    (D) HBr>HI>HCl 

 For the reaction – 

 C2H5OH + HX 
௓௡௫మ
ሱ⎯⎯ሮ C2H5X + H2O the decreasing order of 

reactivity of halogen acid is – 

(A) HI>HCl>HBr>HI   (B) HI>HBr>HCl 

(C) HCl>HBr>HI    (D) HBr>HI>HCl 
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40- tc ,fFky DyksjkbM dks AgCN ds lkFk xeZ djrs gSa] rks eq[; izfrQy gS & 

 (A) ,fFky lk;ukbM    (B) ,fFky vkblkslk;ukbM 

 (C) ,fFky ,sehu    (D) ,fFky ukbVªsV 

 When ethyl chloride is heated with AgCN, the main product is – 

 (A) Ethyl cyanide    (B) Ethyl isocyanide 

 (C) Ethyl amine    (D) Ethyl nitrate 

41- fuEufyf[kr esa fdldk f}/kzqo vk?kw.kZ lcls vf/kd gS \ 

 (A) CH3Cl     (B) CH2Cl2 

 (C) CHCl3     (D) CCl4 

 Which of the following has highest dipole moment ? 

 (A) CH3Cl     (B) CH2Cl2 

 (C) CHCl3     (D) CCl4 

42- bZFkj esa dsUnzh; vkWDlhtu ijek.kq dk izladj.k gksrk gS & 

 (A) sp     (B) sp2 

 (C) sp3     (D) sp3d2 

 The hybridization of central oxygen in ether is – 

 (A) sp     (B) sp2 

 (C) sp3     (D) sp3d2 
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43- QkWeZfYMgkbM CH3MgBr ds lkFk vfHkfØ;k djds cukrk gS & 

 (A) C2H5OH    (B) CH3COOH 

 (C) CH3CHO    (D) HCHO 

 Formaldehyde reacts with CH3MgBr to form – 

 (A) C2H5OH    (B) CH3COOH 

 (C) CH3CHO    (D) HCHO 

44- CH3 - CH – OH dk IUPAC uke gS & 

 (A) vkblksizksisukWy    (B) 2&izksisukWy 

 (C) 1&IkzksisukWy    (D) buesa ls dksbZ ugha 

 The IUPAC name of CH3 - CH – OH is – 

 (A) Isopropanol    (B) 2-Propanol 

 (C) 1-Propanol    (D) None of these 

45- izkbejh ,sYdksgkWy ds vkWDlhdj.k ds i'pkr~ igyk ;kSfxd izkIr gksrk gS & 

 (A) dhVksu     (B) bZLVj 

 (C) dkcksZfDlfyd vEy   (D) ,sfYMkgkbM 

 The first compound obtained on oxidation of primary alcohol is – 

 (A) Ketone     (B) Ester 

 (C) Caboxylic acid   (D) Aldehyde 

 

CH3 

CH3 
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46- fuEufyf[kr esa fdls Y;wdkl vfHkdeZd dgrs gSa \  

 (A) vuknzZ ZnCl2 ,oa lkUnz HCl  (B) vuknzZ ZnCl2 ,oa lkUnz HNO3 

 (C) vknzZ ZnCl2 ,oa lkUnz HNO3  (D) vknzZ ZnCl2 ,oa lkUnz HCl 

 Which of the following is Lucas reagent ? 

 (A) Anhydrous ZnCl2 and conc. HCl 

 (B) Anhydrous ZnCl2 and conc. HNO3 

 (C) Hydrated ZnCl2 and conc. HNO3 

 (D) Hydrated ZnCl2 and conc. HCl 

47- ifj’kksf/kr fLifjV esa jgrk gS & 

 (A) 75% ,fFky vYdksgy    (B) 95.5% ,fFky vYdksgy 

 (C) 56% ,fFky vYdksgy   (D) 100% ,fFky vYdksgy 

 Rectified spirit contains – 

 (A) 75% Ethyl alcohol   (B) 95.5% Ethyl alcohol 

 (C) 56% Ethyl alcohol   (D) 100% Ethyl alcohol 

48- ,sfYMgkbM ,oa dhVksu dk lkekU; lw= gS & 

 (A) CnH2n+2O    (B) CnH2nO 

 (C) CnH2n-2O    (D) CnH2n+4O 

 The general formula of aldehyde and ketone is – 

 (A) CnH2n+2O    (B) CnH2nO 

 (C) CnH2n-2O    (D) CnH2n+4O 
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49- fuEufyf[kr esa fdlds lkFk dSfutkjks vfHkfØ;k gksrh gS \ 

 (A) CH3CHO    (B) HCHO 

 (C) HCOOH    (D) CH3COCH3 

 Which of the following gives Cannizzaro’s reaction ? 

 (A) CH3CHO    (B) HCHO 

 (C) HCOOH    (D) CH3COCH3 

50- CH3CHO dk IUPAC uke gS & 

 (A) ,sflVfYMgkbM    (B) ,sFksuy 

 (C) ,sFksufYMgkbM    (D) ,sfYMgkbM 

 The IUPAC name of CH3CHO is – 

 (A) Acetaldehyde    (B) Ethanal 

 (C) Ethanaldehyde   (D) Aldehyde 

51- dkcksZfDlfyd vEyksa dk fØ;k’khy ewyd gksrk gS & 

 (A) – C –       (B) – C – H  

 (C) – O –       (D) – COOH  

 The functional group of carboxylic acids is – 

 (A) – C –       (B) – C – H  

 (C) – O –       (D) – COOH  

O 

O O 

O 
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52- fuEufyf[kr esa fdlds lkFk eksuksdkcksZfDlfyd vEy fØ;k’khy lekO;ork iznf’kZr 

djrk gS \ 

 (A) bZFkj     (B) ,sYdksgkWy 

 (C) ,sfYMgkbM    (D) bZLVj 

 With which of the following, carboxylic acids exhibit functional 

isomerism ? 

 (A) Ether     (B) Alcohol 

 (C) Aldehyde    (D) Ester 

53- fuEufyf[kr esa dkSu izkbejh ,ehu dks fu:fir djrk gS \  

 (A) R – NH2    (B) R – NH 

 (C) R – N – R     (D) R4N
+X- 

 Which of the following represents a primary amine ?  

(A) R – NH2    (B) R – NH 

 (C) R – N – R     (D) R4N
+X- 

  

R 

R 

R 

R 
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54- esfFky ,sehu dks DyksjksQkeZ vkSj ,sYdksgkWyh; KOH ds lkFk xeZ djus ij curk gS& 

 (A) CH3NC     (B) CH3CN 

 (C) CH3CHO    (D) CH3OH 

 Methylamine on heating with chloroform and alcoholic KOH forms – 

 (A) CH3NC     (B) CH3CN 

 (C) CH3CHO    (D) CH3OH 

55- VªkbZesfFky ,sehu gS ,d &  

 (A) izkbejh ,sehu    (B) lsds.Mjh ,sehu 

 (C) Vf’kZ;jh ,sehu    (D) buesa ls lHkh 

 Trimethylamine is a – 

 (A) Primary amine   (B) Secondary amine 

 (C) Tertiary amine   (D) All of these 

56- fuEufyf[kr esa fdldk ,sfYdyhdj.k laHko gS & 

 (A) izkbejh ,sehu dk   (B) lsds.Mjh ,sehu dk 

 (C) Vf’kZ;jh ,sehu dk   (D) buesa ls lHkh dk 

 Alkylation is possible for which of the following ? 

 (A) Primary amine   (B) Secondary amine 

 (C) Tertiary amine   (D) All of these 
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57- vkf.od lw= C4H11N ds }kjk fdrus izkbejh ,sehu laHko gS \ 

(A) 1      (B) 2 

(C) 3      (D) 4 

 

How many primary amines are possible by molecular formula 

C4H11N? 

(A) 1      (B) 2 

(C) 3      (D) 4 

58- ,slhVksukbVªkby gS & 

 (A) esFksuukbVªkby    (B) bFksuukbVªkby 

 (C) izksisukbVªkby    (D) C;wVsuukbVªkby 

 Acetonitrile is – 

 (A) Methanenitrile   (B) Ethanenitrile 

 (C) Propanenitrile   (D) Butanenitrile 

59- fuEufyf[kr esa dkSu eksukslSdjkbZM gS \ 

 (A) lwØksl     (B) XySDVksl 

 (C) ekYVksl     (D) ySDVksl 

 Which of the following is a monosaccharide ? 

 (A) Sucrose    (B) Glactose 

 (C) Maltose    (D) Lactose 
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60- U;wdyhd vEyksa esa fuEufyf[kr esa dkSu&lk Øe gksrk gS \ 

 (A) HkLe&QkWLQsV&'kdZjk   (B) QkWLQsV&HkLe&’kdZjk 

 (C) 'kdZjk&HkLe&QkWLQsV   (D) HkLe&’kdZjk&QkWLQsV 

 

 Which of the following is the sequence in nucleic acid ? 

 (A) Base-phoshate-sugar  (B) Phosphate-base-sugar 

 (C) Sugar-base-phosphate  (D) Base-sugar-phosphate 

61- foVkfeu&lh dh deh ls gksrk gS \ 

 (A) csjh&csjh     (B) jrkSa/kh 

 (C) fjdsV~l     (D) LdohZ 

 The deficiency of Vitamin C causes – 

 (A) Beri-beri    (B) Nightblindness 

 (C) Rickets     (D) Scurvy 

62- fuEufyf[kr esa dkSu vko’;d 𝛼&,sehuks vEy gS \ 

 (A) ykblhu     (B) XykbZlhu 

 (C) lsjhu     (D) izksyhu 

 Which of the following is an essential 𝛼–amino acid ? 

 (A) Lysine     (B) Glycine 

 (C) Serine     (D) Proline 
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63- vk/ks ?kaVs esa fuEufyf[kr esa fdlds }kjk LVkpZ dks ekYVkst esa cnyk tkrk gS \ 

 (A) tkbesl     (B) bUcsZVsl 

 (C) ekYVsl     (D) MkbZLVsl 

 

 Starch is converted into maltose in about half an hour’s time by which 

of the following ? 

 (A) Zymase    (B) Invertase 

 (C) Maltase    (D) Diastase 

64- fuEufyf[kr esa dkSu izkd`frd jcj gS \ 

 (A) vkblksizhu    (B) ukbVªkslsyqyksl 

 (C) iksyhbfFkyhu    (D) csdsykbV 

 Which of the following is a natural rubber ? 

 (A) Isoprene    (B) Nitrocellulose 

 (C) Polyethylene    (D) Bakelite 

65- dSijksySDVe fuEufyf[kr esa fdldk eksuksej gS \ 

 (A) uk;ykWu&6    (B) uk;ykWu&6] 6 

 (C) uk;ykWu&2 uk;ykWu&6   (D) Vsfjyhu 

 Caprolactum is a monomer of which of the following ? 

 (A) Nylon-6     (B) Nylon-6, 6 

 (C) Nylon-2 Nylon-6   (D) Terylene 
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66- fuEufyf[kr esa MSØksu fdldk mnkgj.k gS \ 

 (A) iksyh,sekbM    (B) iksyhizksihyhu 

 (C) iksyh;wjsFksu    (D) ikWyhLVj 

 Docron is an example of which of the following ? 

 (A) Polyamide    (B) Polypropylene 

 (C) Polyurathane    (D) Polyster 

67- Dyksjkfeu & Vh gS & 

 (A) ,safVeSysfj;y    (B) ,sukytsfld 

 (C) mi’kked     (D) ,safVlsfIVd 

 Chloromin-T is – 

 (A) Antimalerial    (B) Analgesic 

 (C) Tranquilizers    (D) Antiseptic 

68- isaflfyu dk lcls igys vkfo"dkj fdlus fd;k \ 

 (A) ,0 ¶ysfeax    (B) ,y0 ikLVj 

 (C) th0 Fkkelu    (D) ,0 ukscsy 

 By whom Pencillin was first discovered ? 

 (A) A. Fleming    (B) L. Pasteur 

 (C) G. Thomson    (D) A. Noble 

 

 



27 
 

69- fQukWy dk mi;ksx fuEufyf[kr esa fdlds :Ik esa gksrk gS \ 

 (A) dhVk.kquk’kd    (B) ,safVlsfIVd 

 (C) fMlbuQsDVSaV    (D) ,saVkflM 

 Phenol is used as which of the following ? 

 (A) An insecticide   (B) An antiseptic 

 (C) As disinfectant   (D) An antacid 

70- ekfQZu gS ,d & 

 (A) ,safVlsfIVd    (B) ,sukytsfld 

 (C) ,safVck;ksfVd    (D) ,usLFksfVd 

 Morphine is an – 

 (A) Antiseptic    (B) Analgesic 

 (C) Antibiotic    (D) Anaesthetic 

 [k.M&c @ Section-B 

y?kq mÙkjh; iz’u @ Short Answer Type Questions. 

iz'u la[;k 1 ls 20 y?kq mÙkjh; gSaA fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd ds fy, 2 vad 

fu/kkZfjr gSA          10x2=20 

Question Nos 1 to 20 are Short Answer Type. Answer any 10 questions. 

Each question carries 2 marks.      10x2=20 

1- bdkbZ lsy D;k gS \        2 

What is unit cell ? 
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2- ZnO BaMk esa Åtyk gksrk gS ,oa xeZ esa ihyk gksrk gSA O;k[;k djsaA 2 

Explain Zinc oxide is white when cold but yellow when hot. 

3- Okk"Ik nkc ds vkisf{kd voueu ls D;k le>rs gSa \    2 

What do you understand by relative lowering of vapour pressure ? 

4- mYVk ijklj.k D;k gS \        2 

What is reverse osmosis ? 

5- ,ft;ksVªksfid feJ.k fdls dgrs gSa \      2 

What is Azeotropic mixture ? 

6- vkj~gsfu;l lehdj.k D;k gS \       2 

What is Arrhenius equation ? 

7- vf/k’kks"k.k ,oa vo’kks"k.k esa vUrj crkosaA     2 

Differentiate between adsorption and absorption. 

8- lekax mRizsjd D;k gS \ mnkgj.k nsaA      2 

What is homogeneous catalysis ? Give examples. 

9- viksgu fdls dgrs gSa \        2 

What is dialysis ? 

10- ,sY;qfefu;e ds nks v;Ldksa dk uke ,oa jklk;fud lw= fy[ksaA  2 

Write names and chemical formulae of two ores of Aluminium. 

11-  SO4
- - dh vkd`fr dSlh gksrh gS \      2 

What is the structure of SO4
- - ? 
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12- fuEufyf[kr dk bysDVªkWfud foU;kl fy[ksaA     2 

(i) Cr3+ (z=24)    (ii) Zn2+(z=30) 

Write down electronic configuration of the following . 

(i) Cr3+ (z=24)    (ii) Zn2+(z=30) 

13- EDTA dk lajpuk lw= fy[ksaA       2 

Write structural formula of EDTA. 

14- foyksiu vfHkfØ;k D;k gS \       2 

What is elimination reaction ? 

15- fQukWy dks tLrk ikmMj ds lkFk xeZ djus ij D;k gksrk gS \  2 

What happens when phenol is heated with zinc powder ? 

16- jkstsueq.M vfHkfØ;k D;k gS \       2 

What is Resenmund’s reaction ? 

17- fuEufyf[kr ds lajpuk lw= fy[ksaA      2 

(i) VkVZfjd vEy    (ii) vkblksC;wVfjd vEy 

Write structural formula of the following : 

(i) Tartaric acid   (ii) Isobutyric acid 

18- ,fFky ,sehu dks ,fFky ,sYdksgkWy esa dSls ifj.kr djsaxs \   2 

How would you convert ethylamine to ethylalcohol ? 

19- U;wDyhd vEy D;k gS \        2 

What are Nucleic Acids ? 

I 
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20- ògnv.kq D;k gksrs gSa \        2 

What are macromolecules ? 

nh?kZ mÙkjh; iz’u @ Long Answer Type Questions. 

iz'u la[;k 21 ls 26 nh?kZ mÙkjh; gSaA fdUgha 3 iz’uksa ds mÙkj nsaA izR;sd ds fy, 5 vad 

fu/kkZfjr gSA          3x5=15 

Question Nos 21 to 26 are Long Answer Type. Answer any 3 questions. 

Each question carries 5 marks.      3x5=15 

21- izkFkfed vkSj f}rh;d lsy ls vki D;k le>rs gSa \ izR;sd dk ,d&,d 

mnkgj.k nsdj o.kZu djsaA       5 

What do you understand by Primary and Secondary cells ? 

Explain by giving one examples of each. 

22- izFke dksfV dh vfHkfØ;k D;k gS \ izFke dksfV dh vfHkfØ;k ds osx fLFkjkad dk 

O;atd izkIr djsaA        2$3¾5 

What are first order reactions ? Obtain an expression for the rate 

constant of a first order reaction. 

23- fuEufyf[kr dk lajpuk lw= fy[ksa ,oa bldh HkkfLedrk crkosaA 2$2$1¾5 

(i) H3PO3   (ii) H3PO4   (iii) H3PO2 

Write structural formulae of the following and give idea of their 

basicity. 

(i) H3PO3   (ii) H3PO4   (iii) H3PO2 
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24- ySaFksukbM ladqpu D;k gS \ blds D;k izHkko gS \   2$3¾5 

What is Lanthanide contraction ? What are its consequences ? 

25- ,sFksuksbd vEy ls izkjaHk dj vki fuEufyf[kr ;kSfxd dSls izkIr djsaxs \  

2½$2½¾5 

(i) ,slhVksu    (ii) esFksu 

Starting from ethanoic acid how would you obtain the following ? 

(i) Acetone    (ii) Methane 

26- DNA vkSj RNA esa vUrj crk,¡A      5 

Differentiate between DNA and RNA.


